SINGLE CABLE EXIT

NOTES:
1. MATERIALS
UPPER BACKSHELL: DIE CAST ALLOY; FINISH: NICKEL PLATED
LOWER BACKSHELL: DIE CAST ALLOY; FINISH: NICKEL PLATED
LATCH: STAINLESS STEEL ALLOY
LATCH PULL: THERMOPLASTIC
FERRULE: COPPER ALLQY: FINISH: NICKEL PLATED
PCB HOLDER: THERMOPLASTIC
SCREWS: STAINLESS STEEL ALLOY
2. PACKAGING SPECIFICATION: PACKAGED PER PK-76821-001

DOUBLE CABLE EXIT

TRIPLE CABLE EXIT

tb_frame_C_P_AM_T
Rev. E 2006/04/15 12 M 10 9

K

I

3

2 |

PART NUMBER| KEY LOCATION] CABLE EXIT | JACKET OD | CORE 0D REF AWG
76821-0101 LEFT SINGLE 11102020 9.10:0.20 28
76821-0102 | LEFT SINGLE 9.50:0.20 7.50:0.20 30
76821-0201 | LEFT TRIPLE 7102020 550:0.20 28
76821-0202 | LEFT TRIPLE 6.10:0.20 4502020 30
76821-0301 | LEFT DOUBLE 8.60:0.20 6.75:0.20 28
X X X X X X
X X X X X X
X X X X X X
X X X X X X
X X X X X X
= GIMENSION STYLE SCALE DESGN UNITS
Sso| (A N ESs SPECRED) MM ONLY 154 | METRIC |© 1RGNS
~ % % mm H\]CH DRAWN BY DATE TITLE
LSSS3 v:[j TPLACGES T T3  KLANG 2118709 IPASS PLUS HSC
D‘ E 3 PLA[ES + -—- +-—- CHECKED BY DATE PLUG KlT
a % =) ; % V:O Z PLACES foq} f::: APPROVED BY DATE
T A N RANAK IS foldx MOLEX INCORPORATED
wo =5 & MATERIAL NO. DOCUMENT NO, SHEET NO.
moZ<n DRAFT WHERE APPLICABLE| SEE CHART SD-76821-001 1 0F 7
oo MUST REMAIN SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A L WITHIN' DIMENSIONS INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

1




tb_frame_C_P_AM_T
Rev. E 2006/04/15

SINGLE CABLE EXIT
L%_zo REF |
| | ] @
=4
o o
N
T | | ]
23.90REF J
9 81REF [ 16.08 REF
L o =
1 0 ©
44.50REF —
2850 REF
ITEM NO. DESCRIPTION QTY SUPPLEED
01 UPPER BACK SHELL 1
02 LOWER BACK SHELL 1
03 LATCH 1
04 LATCH PULL 1
05 PCB_HOLDER 2
06 EM GASKET 1
07 LATCH PULL RETAINER 1
08 MZ SCREW 2
09 M3 SCREW 2
10 FERRULE 1
§ E I QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS —H_HRD ANGLE
S22| |sympoLs| (UNLESS SPECIFIED) MM ONLY 241 METRIC |©C] PROJECTION
S22 mm INCH | DRAWN BY DATE TITLE
DSSERZ| W0 [TraEsE— [T KA 2118109 IPASS PLUS HSC
‘_D‘ E 3 PLACES [+ --- +-—- CHECKED BY DATE PLUG KlT
me 28 /=0 [ZPLAGS[E03 [+
mwe o Z4 TPLACE I£025 |®£-— APPROVED BY DATE
5=S = ANGULAR £1/2°  MBANAKIS @ MOLEX INCORPORATED
g ; S E MATERIAL NO. DOCUMENT NO. SHEET NO.
Ho==g DRAFT WHERE APPLICABLE| SEE CHART SD-76821-001 2 OF 7
Vooo =] WH e B REEDN < SZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A g INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMSSION

7 ‘ 6 5 ‘ 4 3 2 ‘ 1



12

G

10

EW.ZO REF. #

tb_frame_C_P_AM_T
Rev. E 2006/04/15

G

10

‘ 6 5

4 3 2

[ [ I®] I @
A=
o Q
VN
T | | [®] J
23.90REF. J
9 81REE. r 16.08 REF.
L - =
1 | ©
4450 REF. —|
28,50 REF.
ITEM NO. DESCRIPTION QTY SUPPLEED
01 UPPER BACK SHELL 1
02 LOWER BACK SHELL 1
03 LATCH 1
04 LATCH PULL 1
05 PCB_HOLDER 2
06 EM GASKET 1
07 LATCH PULL RETAINER 1
08 MZ SCREW 2
09 M3 SCREW 2
10 FERRULE 3
§ E S QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS —H_HRD ANGLE
S22| |sympoLs| (UNLESS SPECIFIED) MM ONLY 241 METRIC |©C] PROJECTION
+Z2Z mm INCH | DRAWN BY DATE TITLE
DSSERZ| W0 [TraEsE— [T KA 2118109 IPASS PLUS HSC
‘_D‘ E 3 PLACES [+ --- +-—- CHECKED BY DATE PLUG KlT
me 28 /=0 [ZPLAGS[E03 [+
o 2 %( % 1 PLACE + 0.25 + - APPROVED BY DATE
5=S = ANGULAR £1/2°  MBANAKIS @ MOLEX INCORPORATED
g ; S E MATERIAL NO. DOCUMENT NO. SHEET NO.
Ho==g DRAFT WHERE APPLICABLE| SEE CHART SD-76821-001 3 OF 7
Vooo =] WH e B REEDN < SZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A g INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMSSION

I




DOUBLE CABLE EXIT

21.20REF
\ #

[ —
o e :
[ —
- J
23.90REF
16.08 REF
EBWREF
b T

28.50REF 44 50REF —

ITEM NO. DESCRIPTION QTY SUPPLED
o1 UPPER BACK SHELL 7
02 LOWER BACK SHELL 1
03 LATCH 1
04 LATCH PULL 1
05 PCB HOLDER 2
06 EMI GASKET 1
07 LATCH PULL RETAINER 1
08 M2 SCREW 2
09 M3 SCREW 2
10 FERRULE 3
DIMENSION STYLE SCALE DESIGN UNITS
Sso| (A N ESs SPECRED) MM ONLY 21 | veRC |© I TRRRANGE
+EES o INCH | DRAWN BY DATE  [TITLE
LSSS3 v:[j TPLACGES T T3  KLANG 2118709 IPASS PLUS HSC
‘_D‘ )i 3 PLA[ES + -—- +-—- CHECKED BY DATE PLUG KlT
E % €=} g % V:O 21 PP\LAA[[%S 18;35 f::: APPROVED BY DATE
g52 =° BN S foldx MOLEX INCORPORATED
() =5 & MATERIAL NO. DOCUMENT NO, SHEET NO.
Ho=5% DRAFT WHERE APPLICABLE| SEE CHART SD-76821-001 4 OF 7
nwohoo= MUST REMAIN SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A L WITHIN' DIMENSIONS INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

to_frame_C_P_AM_T
Rev. B 2006/04/15 12 M 10 9 8 7 ‘ 6 5 ‘ 4 3 2 ‘ 1




Rev. E 2006/04/15

3 2 ‘

7 6 5 4 3 2 1
LOWER PCB LAYOUT 3346RER
19.74REF
. ~— 8.00
NOTES: .
1. 0.03 MINIMUM KEEP OUT FOR SOLDER MASK R1.65(4)
AROUND ALL PADS
2. DATUM 'B' TARGETS ARE DEFINED BY THE =
RESPECTIVE PAD CENTERLINES AND THE ==
LEADING EDGE OF THE TARGET PADS =
—
18.00 % 19.96(2)
—
==
C0.30x 45 (2) >
160005 TYP —-] - S N a T I - |
0.40:0.05TYP - 0.36REF E
— 0.60:0.03(42) J
— 0.90:0.05TYP - 1.00+0,10
_.[010]AB[d] ACROSS PADS
145010 TYP —=] - MEEER
N 8 =
‘ ‘ \ — E.:.
— R 7<E|k7777 \ = DATUM AXIS C =
S =i =
o —| —
| 777 \ 18.00:010  [16.00 %
T L — | =
| =
e LB =
I/ I
:“:I / 12.28+0.05(2)
/
— | |
/’/’
~ —’/ §§§ QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS —H_HRD ANGLE
\I\-- | - S22| |syMBoLs| (UNLESS SPEGF\E‘D[\)]CH - g’IYM ONL\D(ATE mgm METRIC @GPROJECT\ON
dE=s=s mm
DSSERZ| W0 [TraEsE— [T KA 2118109 IPASS PLUS HSC
‘_D‘ E 3 PLACES [+ --- +-—- CHECKED BY DATE PLUG KlT
] 0.00:0.03TYP me 28\/=0 [ZPLAGESE0E [+
0.080:0015 TYP J« wgz =9 A 0 s |feldx MOLEX INCORPORATED
DETA‘L Z 0 % ; S E — MATERIAL NO. DOCUMENT NO. SHEET NO.
SCALE 2041 WoE5E DRAFT WHERE APPLICABLE| SEE CHART SD-76821-001 5 0F 7
' Vooo =] WH e B REEDN < SZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A g INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMSSION
tb_frame_C_P_AM_T 2 ‘ 1 ‘ 10 ‘ 7 ‘ 6 5 4 1




5

4 ‘ 3 ‘ 2

UrPrPER PLB LAYOUT

NOTES:

1. 0.03 MINIMUM KEEP OUT FOR SOLDER MASK

AROUND ALL PADS

2. DATUM 'B" TARGETS ARE DEFINED BY THE
RESPECTIVE PAD CENTERLINES AND THE

LEADING EDGE OF THE TARGET PADS

1.60:0.05TYP —— -

0.40:0.05TYP
0.90:0.05TYP

?

%

0.60=0.03(42)

145010 TYP

1

0.10/AB|C
$OOBA

1]
[ EE

X_

~ _—

0.00:0.03TYP

0.080:0.015TYP

I

DETAIL Y
SCALE 2041

St e—————

C0.50x 45 (Z)L

L

33.46REF

2.81 11.00
6

18.00:0.10

S N

1.00:0.10
ACROSS PADS

18.00+0.10

DATUM AXIS C

~—— 10.78:0.05(2)

SEE SHEET 1

EC NO: UCP2010-0734

2009710116,
2009/10/22

CHKD:

2009/10/22
DESCRIPTION

APPR:MBANAKT S

GENERAL TOLERANCES
(UNLESS SPECIFIED)

QUALITY
SYMBOLS

DESIGN UNITS

MM ONLY 21 METRIC

DIMENSION STYLE SCALE ‘

© iR

IRD ANGLE
OJECTION

mm INCH

DRAWN BY DATE TITLE

4 PLACES|£-—-

KLANG 2118/09

3 PLACES |-~

CHECKED BY DATE

PLUG KIT

2 PLACES|+0.13

IPASS PLUS HSC

1 PLACE [£0.25

APPROVED BY DATE

folex

ANGULAR £1/2°

MBANAK 1S ol

MOLEX INCORPORATED

DRAFT WHERE APPLICABLE
MUST REMAIN

REV

WITHIN DIMENSIONS

MATERIAL NO.

SEE CHART

DOCUMENT NO.

SD-76821-001

SHEET NO.

6 OF 7

SIZE

THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

tb_frame_C_P_AM_T
Rev. E 2006/04/15 12 M 10

> DRWN: JLONG

7 ‘ 6 5

‘ 4 3 2

1




3. WRAP BRAID WITH COPPER TAPE

13 ‘ 12 ‘ 1" ‘ 10 ‘ 9 ‘ 8 ‘ 7 6 5 4 3 2 1

ASSEMBLY MeE THODOLOGY

5. OVERMOLD WIRES (OPTIONAL)
6. PLACE PADDLE CARDS IN
1. STRIP CABLE (NOT SUPPLIED) PCB HOLDERS

2. SLIDE FERRULE OVER WIRES 4 ATTACH WIRES TO PADDLE CARDS
AND UNDER BRAID (FLANGE OUT) (NOT SUPPLIED)

7. PLACE ASSEMBLY INTO
8. MATE LOWER BACKSHELL UPPER BACKSHELL

TO UPPER BACKSHELL

9. INSTALL M3 SCREWS TO

tb_frame_C_P_AM_T
Rev. E 2006/04/15

UPPER/LOWER BACKSHELL 2SS [qualTy| GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS THIRD ANGLE
10. PUT LATCH PULL ON S22| |sympoLs| (UNLESS SPECIFIED) MM ONLY 241 METRIC ©d PROJECTION
' S22 INCH | DRAWN BY DATE TITLE
UPPER BACKSHELL DRSS W0 [TrrAEsE [ KLANG 2118109 IPASS PLUS HSC

M. PUT LATCH OVER LATCH PULL - £ -0 3 PLACES|f-——— [£---  [cHEcKeD By DATE PLUG KIT
(s alIS =U [2 PLACES|£0.13  [£-—-

12. INSTALL M2 SCREWS IN LATCH LS., =7 PLAES 0D T e —~ ITEM NO DESCRIPTION

13. INSTALL LATCH PULL RETAINER ISE = ANGUL AR £1725 MBANAKIS tolex  MOLEX INCORPORATED

/‘4 ‘NSTALL EM‘ GASKET 8% ; =] i ~ MATERIAL NO. DOCUMENT NO, SHEET NO.
Ho==g DRAFT WHERE APPLICABLE| SEE CHART SD-76821-001 7 0F 7
nwoSo=| WH e B REEDN < SZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX

A g INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

7 ‘ 6 5 ‘ 4 3 2 ‘ 1




